5. Prozentwert berechnen Name

Von 900 km sind 45 km =
Von 400 km sind 40 km =
Von 600 km sind 54 km =
Von 700 km sind 210 km =
Von 400 km sind 140 km =
Von 500 km sind 135 km =
Von 200 km sind 32 km =
Von 400 km sind 284 km =
Von 1.000 km sind 550 km =
Von 3.000 km sind 240 km =
Von 500 km sind 65 km =
Von 2.100 km sind 147 km =
Von 900 km sind 891 km =
Von 2.500 km sind 1.125 km =
Von 1.200 km sind 168 km =
Von 600 km sind 528 km =
Von 500 km sind 125 km =
Von 200 km sind 68 km =

Von 2.200 km sind 242 km =
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